Churchlands Senior High School



YEAR EIGHT 2024 24 921 08 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 22nd December 2023 Using "QQGX" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your home delivery order will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the Return date of Friday 22nd December 2023.

The delivery service is FREE for orders placed by the 22nd December 2023. After this date a delivery charge of up to \$17.50 will be charged.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Your Campion Store 751 MARSHALL ROAD MALAGA WA 6090 Contact Us 08 6240 2778 wasales@campion.com.au

Please tick the items required in the box provided $\ \downarrow$

		\checkmark	¥			
Office Use	Description	ltem No.	ltem Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR EIGHT					
	COMPUTING					
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	1		1	14.95	14.95
	DRAMA					
P50281	Document Envelope A4 PP With Press Stud Clear	2		1	1.25	1.25
	ENGLISH					
P33325	Excel English Pocket Book Yr 7-10 [Brown]	3		1	12.95	12.95
P50281	Document Envelope A4 PP With Press Stud Clear	4		1	1.25	1.25
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	5		1	14.95	14.95
P55551	Exercise Book A4 96 Page 8mm	6		2	1.65	3.30
P50859	Highlighters Pkt 6 Assorted	7		1	8.60	8.60
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	8		1	3.80	3.80
P52001	Pencil (2B) Goldfaber	9		2	0.65	1.30
P56098	Pen Ballpoint Bic Cristal Blue	10		6	0.60	3.60
F49364	Reading Plus Digital Resource Year 8	11		1	14.00	14.00
	Please provide payment to Campion. Access details will be provided b	y School.				
D 40000	AEP STUDENTS PURCHASE THE FOLLOWING ADDTIONAL TEXTS:	10	_		40.00	40.00
P16292	Eat the Sky, Drink the Ocean [Payal Dhar]	12		1	19.99	19.99
P12426	Bone Sparrow, The [Zana Fraillon]	13		1	19.99	19.99
	FRENCH					
F49365	Churchlands SHS Language Perfect Subscription French Yr 8	14		1	27.50	27.50
	Please provide payment to Campion. Access details will be provided b (Compulsory)	y School.				
P55442	Display Book A4 20 Pocket Black Refillable	15		1	2.15	2.15
	HOME ECONOMICS					
P50281	Document Envelope A4 PP With Press Stud Clear	16		1	1.25	1.25
	Other requirements: 1x Food Container 1x Set of Reusable Cutlery		_			
D 40000	HUMANITIES & SOCIAL SCIENCES		_		40.05	40.05
P10360	Oxford Big Ideas WA Humanities & Soc Sci 8 Skills & Act Bk [Conti et al]	17		1	19.95	19.95
P55442	Display Book A4 20 Pocket Black Refillable	18		1	2.15	2.15
P56252	Pencils-Coloured 12's Colourush	19		1	4.50	4.50
P56414	Ruler 300mm Plastic Clear	20		1	0.75	0.75
	JAPANESE					
F49366	Churchlands SHS Language Perfect Subscription Japanese Yr 8	21		1	27.50	27.50
	Please provide payment to Campion. Access details will be provided b (Compulsory)	y School.				
P55442	Display Book A4 20 Pocket Black Refillable	22		1	2.15	2.15
P15540	Obento Deluxe - Workbook (Print & Digital) 5E [Kusumoto et al]	23		1	47.95	47.95
	Retain from previous year - only new students need to purchase.					
P50271	Pencil (HB) Goldfaber	24		1	0.65	0.65
	May use a mechanical pencil instead.		—			

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount
			-			
	MATHEMATICS					
	Important Note: Parents/Caregivers will be informed by email of the Mathematics Pathway All students will require the same booklist items.	y their	child is in fo	r 2024 by 1	4 Decemb	er 2023.
P51020	Calculator Sharp Scientific EL506TS	25		1	51.75	51.75
	Any scientific calculator is sufficient.					
250328	Exercise Book A4 128 Page 8mm with Margin Spirax #110 One exercise book per Semester.	26		2	2.15	4.30
	One exercise book per Semester.					
	Select ONE of the rulers below		<u>Choose One</u>			
P50090	Ruler 300mm Wooden	27		1	1.10	1.10
DF0 4 4 4	- OR -		_			
P56414	Ruler 300mm Plastic Clear	28		1	0.75	0.75
	YR 8 E-RESOURCE					
49367	Digital Mathematics E-Resource	29		1	22.00	22.00
	Please note that students are required to purchase this for their Mathema Access to the E-Resource will be provided by your child's teacher.	atics Cl	ass.			
	MEDIA					
P55522	Eraser Plastic Pencil Economy in sleeve	30		1	0.70	0.70
252001	Pencil (2B) Goldfaber	31		2	0.65	1.30
			_			
250547		20	_	4	44.05	44.05
-50547	Earphones Ear Bud With In Ear Drivers and Microphone Walkman/Pod type earphones also suitable.	32		1	14.95	14.95
P55454	Display Book A4 20 Pocket Premium Black	33		2	4.95	9.90
	One display book for the Choir and one for music class worksheets.		-			
P58510	Eraser Plastic Pencil Large With Sleeve	34		1	0.40	0.40
P55919	Music Manuscript Writing Pad 100 pages 12 Stave	35		1	13.00	13.00
	Not required if you have sufficient manuscript paper remaining from the previo					
252001	Pencil (2B) Goldfaber	36		2	0.65	1.30
	SCIENCE					
P50281	Document Envelope A4 PP With Press Stud Clear	37		1	1.25	1.25
P55551	Exercise Book A4 96 Page 8mm	38		1	1.65	1.65
	OPTIONAL STATIONERY					
	PLEASE SELECT OPTION A OR INDIVIDUAL ITEMS IN OPTION B					
	Option A					
76900	Secondary Stationery Pack	39		1	64.00	64.00
	COMPLETE SECONDARY STATIONERY PACK WITH REDUCED PRICING					
	Retail Price: \$75.00					
	Cost Saving: \$11.00					
	Resource List Special Price: \$64.00					
	OR Detter D					
	Option B SELECT INDIVIDUAL ITEMS AS REQUIRED					
255110	Binder A4 2D Ring 25mm PE Black	40		1	5.35	5.35
255442	Display Book A4 20 Pocket Black Refillable Display Book A4 20 Pocket Red Refillable	41 42		1	2.15 2.15	2.15 2.15
55449				1		

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P50281	Document Envelope A4 PP With Press Stud Clear	43		1	1.25	1.25
P50694	Document Envelope A4 PP With Press Stud Red	44		1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	45		2	0.40	0.80
P55546	Exercise Book A4 64 Page 8mm	46		4	1.30	5.20
P55551	Exercise Book A4 96 Page 8mm	47		2	1.65	3.30
P51353	Glue Stick 40gm Artline Purple	48		1	2.75	2.75
P51157	Highlighters Pkt 4 Micador ECO	49		1	3.50	3.50
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	50		1	3.80	3.80
P50113	Markers Faber Project Wallet 12 Assorted	51		1	3.45	3.45
P56213	Pencil Case 340x170mm Name Large	52		1	3.40	3.40
P50006	Pencil (HB) Micador Essential	53		3	0.35	1.05
P52001	Pencil (2B) Goldfaber	54		2	0.65	1.30
P56094	Pen Ballpoint Cap Type Black Medium	55		2	0.35	0.70
P56095	Pen Ballpoint Cap Type Blue Medium	56		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	57		4	0.35	1.40
P56329	Pocket Plastic A4 11 Hole Box 100	58		1	7.10	7.10
P56252	Pencils-Coloured 12's Colourush	59		1	4.50	4.50
P56414	Ruler 300mm Plastic Clear	60		1	0.75	0.75
P50161	Scissors 170mm Maped Plastic Handle	61		1	2.30	2.30
P56242	Sharpener Pencil Barrel Double Hole (EL)	62		1	2.10	2.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	63		1	14.05	14.05

Number of Boxes ticked:

Postage (Home delivery only)

\$0.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 23/11/23)

\$